Exanmple 1: qujoihl\a OJC diﬁemmmvr

R
C } VA Unstable 4 = —
Dt 1 o 2 € H- \-fY—IGH 1
Z“ L ‘B}Wt. appY. Loop qan
| B2 { & WD, Goldo
Hee H = R ; G=—=2 > =
< Z2tZ21 | ‘l‘JUORC ! 1'{':)('0/500 JLQ
LCV{ Of‘w
o L GWe _ Glde ey
=55 &H~ijC s TRC (

We see that GH is headed o it GH=~1 tonditibn at

_ [ Gle | “ ’
(O = T = ofreq.o]ﬁ expected fingiig g&&ﬁw

N.G. : checle willh wweasured behavowr w Y lab.



Example 2 %‘ra,b‘.lma o]ﬁ Vo(fwy Hllower dnvu\/ﬂ C

Reax (nge Cvauit So that it looks ag
C
e
o

'ISlh

ol

4_-:

Gre, Ze
1+ W/, Ze+ Rowt

The loop gam € GH =

br >, GHr BWe |
\](/O 1'{")@ Qou;{'c,

GHdg
A__-204¢ >
et ®CGHY e —1go wmaﬂﬂ
i -t The queston wtuzﬂ«er' IGH|$ 1
: : whew that hageng
N '. s = A . ‘
Plai] I \ f")‘iw J_g (g = RorC. is Sqf{-‘.de@uﬂs \CH’@(

~ 4

. 4}05 A '[ (Rowtc) 1 .
KQL__\_~ (C<<chwwp> , the arewit i

M A R

- Stable.
T 4. C<loopF foe 4|



	s1
	s2

